o188 | Ig8 |o50n| | O98% | 2g8 [ooon|| D8R8 | 2gf [S50n| | 5825 | 2gf [530m
e 30 +5TU-g| B3| B0 | |m31x ) BT =AW
£Bm 30 |B10| |we 5100 | 35300 | [mae T ES %26 | 2m
M %26 il H4R | H2n | e L ESEIIE
ic B oK | Han | |EE 2R | WAk | [miwm |20 | maw
Qi #3100 | |mmn ®49) |%20 | |1 %10 TGE | 200 | WA
® Ham | ;2w | sz 200 | 400 | | $am | w20 | | =200 | AW
BI8 1| 3w | (3t %48 | w20 | [1r8 B0 |30 | [zl |sm20 | Have
B AW SH5T0] $300| 10 | [ %10 %30 | |mx ;200 | AN
BEE 19 |%30 | |wew 208 | WAK | |2 200 | a0 | | 200 | /AW
A oK | BN | (RSRE- | BOK BN | [me H4R |20 | | ;200 | ;AW
Bk 2w | wav| |wzmE= M| w1k | [nEm 4R | H2w | %0 2K | WK
BEE w200 | wav | [wsme= | W3 | w1 | (e e eI
BENeRES | HA | 200 | [REmEm | ®3m |H 16K | (AW K| Aok | [mEak | 2ok | maw
&7 1 TE | #3W w5 300 | 100 | [Awo $20 | WAk | [mEOw | W2 | WAN
BEW2TE | #3W 3147 #49) | %20 | [ues 2| WA [mE ®2m | /AW
BF-TE |#360 %19 [0owde |mew | ®mam| (awmEm | w2 mau | [mxn 20 | BN
BPI=TE | %36 |10 | [e57Rreme| man | B2 | |pms HIH P
&R #2090 | %40 | |vHm F40K # = 1R | B3N
mERE— | B3 | WIN| |5 = w200 | Ao | |zmme | 18| BmIw
BERES | $3K | H1K| [meacnsan | B 10| B3| ke AR | W2 | |xemE | H1| W3
BERE= | B3 |W1N | %D a0 | o | [KegT FAR L
BEE 3w || [ewEe  |®3m | ®1N| [BR 10K | 33 | [1o
—on %459 ke $3R ARV | B W | [Fxemms | m2m | maw
% #3@|B10| [ExE %3 AREO |16k |83 | [GxeED | 2w | maw
HkE | $3®|H10) | |E WO | WIN | (AR | #1060 |83 | |2m 20 |
wnHE |93 |10 | |ne %200 ARGEE | 810K | 830 | [T A | mow
PG EE %30 |®18 | [z HIN | WA |&
0 B gae| w2 | [=5m HAR 0 |
R | savo| mam | [759-sovper| maw | 2w | [mnE F20 | BaK | |58 18| B32
o &l B $am | 2ok | | 578 20 |20
55 #5260 N LR £3%K D
sR 1@ | B3| 0P ETEENEE 10|83 | (m= EIERR
515 IEREIE R %40 b
& " wAv | o | [mmw | mow T A | oW
)\ #4m 220 | [mt $48)|®20 | [szavwe [m1w|m3w | [Bx 30 |®10
N AN | B2 | [KUR5—B |Wavo|maw | [== %20 | ®aA | [wEso>y W3R
MRS | #2@)|Ham | [KLrs—% |H20|man | s 100 [B3W
NREm | ®20®)| W4 | |xLas—mRk | W20 | maw | |= %16 | %30
NFth 4@ * Y IEYCNEE TR E e
o w300 |1 | [#m5T8 [maw |[miw| =20 HAK | w20k
R o | waw| [sm3TE W30 | W1 |=m %40 | %20
v AM4TE | HIN W1 (w2 %2 | BAS
5¢5-y28r%| BN | 3w | [& ©

26




